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Average daily temperatom fin' any city in the United Stams can be approximated with reasonabie acouacy by
a fonction of the formn fif) = A sin(bit - &) + &, whers £33 1o days after Janary |

For pxarople, a raordef for average dajly temps i the following cities is given by
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The= average temperanme o Fiitsinirgh can be modaled by the fusction
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{2} {3 ptsh Explain why it i3 appropriate to mee 5=[E]_
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(ed (3 prs) What js the fowest average tempentare in Pimgbarph, and tn whar month does thar occr?
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[This problem iz continued on the aext page ]

University of Michigan Department of Mathematics Winter, 2001 Math 115 Exam 1 Problem 8 (climate) Solution



Theu?nd:lfnraﬂtag:daﬂ}rbmmmﬁumth:pmﬁmspagewmgiwnas
STip = A st - b)) + £
(d} (3 pis) In this medal, what does the parameter A ] ¥ou about the prevailing climate in a city?
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{f) (3 pts} What does the parameter £ indicate in terms of clmam?
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